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@1
BT 1E A BEANS | Friends | =77 || &[ s]iEn] 5+ 18 B JFE [z Z 7] WINDS || & S]iEsd
BEANS 20 0]O[84 38]0|2][o0[4] 1 JFEZF—/L 70 32/0[74 49/0]2]0]4] 1
Friends 0 20| x 30 72/ x|0|2|1] 3 w77 32 70| % 50 60| x|0|2|2] 3
fEilia7TI~7—x[38 84| x|72 30/ O 11]3] 2 WINDS 49 74] x[60 50/ O 1{1]3] 2
@211
BT 28 A Rim BANDITS | AWARD | k| & | A |lEN BT 288 B Players | %> 74X | Divers | W] £ | si|lafy
Rim 62 46/ O[68 31]0[2[0][3] 1 Players 69 59/ Of63 53/O[2]|0[4] 7
BANDITS 46 62] x 67 41/0[1]{1]|3] 2 FrI42 (59 69 X 52 40| O 1]of2] 2
AWARD 31 68 x[41 67] x ol2]2] 3 Divers 53 63 x[40 52| x o[2]2] 3
BT 28 C | FFaT| START Glanz | B§| & | & |a{T B+ 288 D |f&@ILS48ers| Panthers S.IN.8 | 5| & | & |MEf
JFagn 56 57| x[81 37/O|1[1][3] 2 18 1L1S48ers 48 52 x[41 36/O[1|1[3] 2
START 57 56| O 58 45| 02|04 1 Panthers 52 48/ O 75 51|0[2(0f4] 1
Glanz 37 81| x[45 58] x of1]1]3 S.N.8 36 41 x[51 75 x o[2]2]3
@3
3 A 3% B
B+ 3% A | ZEEHE | leap |HANGOVER| M| & | & [NEf B+ 3% B | ASSASSIN| JFhE 2 Mt | | £ s IEf]
= Z7EHEBBC 79 37/0]76 38/O2[0]4] 1 ASSASSIN 74 36/ Of72 28/Of2[0]4] 1
leap 37 79| x 24 32/ x[of2]2] 3 JEdE 277 |36 T4 X 59 55|Of1[1[3] 2
HANGOVER  [38 76| x[32 24/ O 1[1]3] 2 Warakal’ ™ [28 72| x |55 59| x 0l2[2] 3
3% C | 3% D |
55 52 54 16
47|_|—‘38 45]—|_|54 47]—|_|53 44]—|_|51
Little Mouse INAT T Piece ‘IR Squiders F ZOMBIES PISTRIX
(165 (3h1) (44i1) @fin) (3f7) (1£37) (4h1) @f1)
15| 34 69| |56
| I
NERLRTE - ATV B>
@158 JEALRE @1-288 ABIULE
| 1-28A KR A | Friends Rim Players | | & [ A% [JEf]
66 56 Friends 42 58/ x |57 87/ x|o]2[2] 3
83|_|—‘41 65]—|_|91 Rim 58 42] O 55 49]Of2]o4] 1
BEANS WINDS E@arFNT=2" | JFEAF—)L Players 87 57, 0]49 55| X L1312
(167) (44i1) (3fi0) @hn) 1-28 A% B [#ILZF 7| START | Panthers | W] & ] s]iand
a1] J49 w77 74 50 O82 42[O[ 2] 04 1
| START 50 - 74| X 58 -32|O|1]|0|2] 2
Panthers 42 82| x[32 58] x o[2]2]3
@2-3% AMIULE
2-3%B AR A | BANDITS | Divers | =Z87EM | B[ & | 5 |IEH] 2-3FAFE B | T A4X| AWARD | ASSASSIN | B | £ | 2 |NEf
BANDITS 62 32/ O[54 43/O[2]0]4] 1 PLITAR 62 34/0O[35 55/ x| 1[1][3] 2
Divers 32 62| x 73 64/O1[1[3] 2 AWARD 34 62] x 48 45/0[1{1]3] 3
—JEEKEBBC |43 54] x]e4 73] x ol2]2] 3 ASSASSIN 55 35/ O[45 48] x 1]1]3] 2
2:3FAK C |FF=T/4| S.N.8 |Little Mouse| i | £ | i |NE{] 2-3FAF D |[f@LS48ers| Glanz F Jos | £1| A IEAY
FFaT)L 49 39/ Of61 59| O] 204 1 1@ ILS48ers 42 66 x[48 60/ x|o]2[2] 3
S.N.8 39 49| x 36 39/ x[of[2]2] 3 Glanz 66 42/ O 37 51 x| 1[1]3] 2
Little Mouse |59 61 x[39 36/ O 1|1]3] 2 F 60 48/ O[51 370 2lof4] 1
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73 43
28y—|_|73 o]—|_|20
HANGOVER PISTRIX wILTSERY: | MHREsFT
(3i1) (1/37) (4fir) (2ir)
20| lo
|
3 @ leap Squiders Piece || & | s |IENT R E) WEaat K| ATV v 7| ZOMBIES | B | & | A (a7
leap 0 20/x]o 20[x[of[z2]o0] 3 M Er 28 53/ x[20 47/ xJo[2[1] 3
Squiders 20 010 78 38/0O|2(0)4] 1 AT 53 28| O 35 38/ X|1|1]3] 2
Piece 20 00|38 78‘>< 1{1]13] 2 ZOMBIES 47 201 0|38 35‘0 2104 1
BF O BANEAL
@1 @2 @3
1 BEANS 1 Players 1 = ZEEMBBC
2 JFEAF— v 2 START 2 AWARD
3BT IR —X 3 Friends 3 S.N.8
4 WINDS 4 Panthers 4 & 11IS48ers
5 Rim 5 BANDITS 5 PISTRIX
6 twLr77 6 ASSASSIN 6| MHmr7T7
7 FF =27 7 HANGOVER
8 F 8| FEILTHSRY:
9 Divers 9 Squiders
10 P TARX 10 ZOMBIES
11 Little Mouse 11 Piece
12 Glanz 12 N ATv7
13| MEEsE
14 leap




[ Zc+Dis]

L FEEIVRED>
T A RISE o777 Suns | M| A | 5 MENT 4“7t B GALAXY |[m—=xz=x—|  Piece [M]&] & ]NEn]
RISE 41 32]0[71 26/0f2[o0[4] 1 GALAXY 55 47/0[84 35/0]2[0]4] 1
BlarF~7—=32 41| x 59 39]0O[1]1]3] 2 n—RAZ—H@I [47 55| X 96 19]0[1]1]3] 2
Suns 26 71] x[39 59] x 0ol2]2] 3 Piece 35 84 x |19 96] x of2]2] 3
&t C |
30 40
61|_|—‘23 16]—|_|73
wmrz7 START ESTRELLA Fridays
(2fir) (4fr) (3fi7) (1£7)
18] 53
|
LIBALREFD R >
T+ 1L RISE GALAXY | Fridays | M| | & [Ef Z+ 20\ ar7  |(e—X2xZ—[@ILIT77 | B| Al & |EM
RISE a4 47] x[43 48[ xJol2]2] 3 FAIIEVS VN 42 28/ O[36 26/O|2]o0[4] 1
GALAXY 47 44| O 53 59| x[1]1]3] 2 b— XA —fEI (28 - 42] X 48 50| x|of2]2] 3
Fridays 48 43/ O[59 53[0 2lof4] 1 twiir77 |26 36] x[50 48] O 1{1]3] 2
LT 3-4fi |
40 38
36y—|_|50 40|_|—|36
Suns START ESTRELLA Piece
(3f37) (1f57) (2i7) (4f3r)
57| 35
|
TFDER FAINBAL
1 Fridays
2 GALAXY
3 RISE
4 fihars~7—=
5 ws77
6 | m—R 2 —1E 1L
7 START
8| ESTRELLA
9 Suns
10 Piece
[> =7 D]
=7 A OIdBEANS[ RN | FEAX | RaEEx [ B[ &l AnEn
OIdBEANS 50 37,099 34| 0O(70 22|O|3f0o|6]| 1
FRONF AL —> |37 50] % 72 30| Ofws 37|02 1]5] 2
a7IFELR |34 99| X [30 72| X 55 45O 1|24 3
NS 22 70| x |37 103 x |45 55| x 0[3|3] 4
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